Student’s worksheet

Experimental procedure

Time of the experiment: AL A0

1. Place the stick in the Sun and make sure it is vertical to the ground.

2. Measure the length of the stick and note down your measurement in the table
below.

3. At the time scheduled'to conduct the experiment, measure the length of the stick’s
shadow. Repeat the measurement 5 times and write your values down in the table.

4. Your teacher will provide you the value for length of the third side of the triangle
in the picture below. Write the value in your table.

5. Your teacher will also provide you the value for the distance bctween the two
schools. Write the value in your table.
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Table of measurement

Stick length

Shadow length (1% measurement) A o
Shadow length (2 measurement) 8.5 o
Shadow length (3™ measurement) VA, &
Shadow length (4™ measurement) BB.5 tw

Shadow length (5™ measurement)

Length of triangle’s 3" side

Distance between schools 108G, %83 Kw
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Exersice

1. Find the mean value for the length of the shadow.

The mean value for the length of the shadow is:

2. Divide the length of the stick’s length, the length of the stlck’s shadow and the
length of the triangle’s 3™ side (see table above) with 10.




3. Using the value you calculatecgat the previous step draw a triangle like the one
depicted in figure 1. -2
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4. Using a goniometer measure angle 0 (see figure 1) in the triangle you drew.

Angle (8):

5. Note down the angle measured by your fellow students at the other school.

Angle (¢): [}.4-, S l i

6. Subtract the two angles. The value you’ll find corresponds to the angular distance
of the two schools.

7. Using proportions calculate the Earth’s circumference.

distance between the schools = Earth’s circumference « 449,51 -3¢
angular distance between the schools 360°
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